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WB Police Constable (Prelims) Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c) öŸ¡ì ö›ïëÅ ¢ÁËyÝþ !Šéöìœ˜ î,£oíÐ 187 !…Êƒ þ™)îÅyöì· !“þ!˜
“¤þyîû !˜‹ îÊyáþ’ ö¢˜yþ™!“þ þ™%¡ìÄ!›e ÖöìDîû myîûy !˜£“þ £öìœ
ö›ïëÅÄ ¢yÁËyöì‹Äîû þ™“þ˜ ‡öìÝþÐ

2. (b) ¢%œ“þy˜ !†ëûy¢vþz!j˜ îœî˜ ¢îÅ²Ìí› ”îûîyöìîû ò˜çöìîûy‹
vþzê¢îó ‰þyœ% „þöìîû̃ Ð

3. (b) 1854 !…ÊÞÝþyöì· öîyvÅþ xšþ „þöìrÝþÆyöìœîû ¢¦þyþ™!“þ ‰þyœÅ¢ vþzvþ
òvþzöìvþîû övþ¢þ™Äy‰þó ˜y›„þ !ŸÇþy ¢‚e«yhsþ !˜öì”ÅŸ˜y›y ²Ì„þyŸ
„þöìîû!Šéöìœ˜Ð

4. (c) 1917 ¢yöìœ ¢‚†!àþ“þ ‰þÁ¿yîû’ ¢“þÄy@ùÌöì£îû x˜Ä“þ› ßþiy˜#ëû
ö˜“þy !Šéöìœ˜ îûy‹„%þ›yîû Ö„ÏþyÐ !“þ!˜ †yõþ#!‹öì„þ ‰þÁ™yîûöì’
˜#œ„þîû ¢yö ì£îöì”îû x“þÄy‰þyîû ¢Á™öì„Åþ xî!£“þ „þöìîû
xyöì̈ yœöì̃  ö˜“,þc ö”çëûyîû ‹˜Ä xy£ý˜ ‹y˜y˜Ð

5. (b) !îÙ»˜yí xy˜¨ ²Ìí› îûy‹#î †yõþ# ö…œîûb þ™%îûßþñyîû ‹ëû
„þöìîû̃  1991-92 ¢yöìœîû ‹˜ÄÐ 1988 ¢yöìœ !“þ!˜ ²Ìí›
ö‰þ¢ @ùÌÄyuþ›yÞÝþyîû £˜Ð

6. (d) ò!Ýþó „þíy!Ýþ †Í³þ ö…œyîû ¢yöìí ë%_«Ð ò!Ýþó £œ †Í³þ îœ
îûy…yîû ‹˜Ä îÄî£*“þ ÞÝþÄyö ìuþîû ˜y›Ð öë…y˜ öíöì„þ
ö…öìœyëûyvþüîûy †Í³þ !ÞÝþ„þ !”öìëû îœ ›yîûöì“þ ö‰þÜTy „þöìîûÐ

7. (c) ëy!›˜# „,þ¡Œ›)!“Åþ ~„þ‹˜ ²Ì…Äy“þ ¦þyîû“þ˜yÝþÄ› ˜,“þÄ!ŸÒ#
!Šéöìœ˜Ð !“þ!˜ þ™p×#– þ™p¦)þ¡ì’– þ™p!î¦)þ¡ì’ ~î‚ ¢D#“þ
˜yÝþ„þ xÄy„þyöìvþ!› xÄyçëûyvÅþ öþ™öìëûöìŠé˜Ð ¢Á±!“þ 3 xy†ÞÝþ–
2024 ¢yöìœ ˜“%þ˜ !”!ÍÔöì“þ þ™îûöìœy„þ †›˜ „þöìîû̃ Ð

8. (c) xyöì‹Å!rÝþ˜yîû ›%oyîû ˜y› £œ xyöì‹Å!rÝþ˜ öþ™öì¢yÐ
9. (b) xy£z~˜~¢ ‰þe« £œ îûy!Ÿëûyîû xy„%þœyéôé2 „Ïþyöì¢îû ~„þ!Ýþ

¢yîöì›!îû̃ Ð öë!Ýþ 4 ~!²Ìœ– 2012 ¢yöìœ „þ!›Ÿ˜²Ìy®
£öìëû!Šéœ ~î‚ ~!Ýþ !îŸy…þ™_˜öì› xî!ßþi“þ !ŠéœÐ

10. (b) !¢Dœ#œy öîûO ö˜þ™yœ öíöì„þ þ™!Øþ›îDöì„þ þ™,í„þ „þöìîûöìŠéÐ
þ™!Øþ›îöìDîû ”%!Ýþ ¢öìîÅyF‰þ Ÿ,D ¢y¨y„þš%þ ~î‚ šþyœ%Ýþ ~£z
öîûöìO xî!ßþi“þÐ

11. (b) îûy‹ßþiyöì̃ îû îûyçëûy¦þy“þyöì“þ ‰þÁºœ ˜”#îû çþ™îû òîûy˜y ²Ì“þyþ™
¢y†îû vþÄy›ó xî!ßþi“þÐ

12. (a) ò˜¨yöì”î#ó îyöìëûy!ßþ³þëûyîû !îû‹y¦Åþ vþz_îûy…öì[þîû ‰þyöì›!œ
†yîûçëûyœ ö‹œyöì“þ xî!ßþi“þÐ ~!Ýþ 1982 ¢yöìœ ßþiy!þ™“þ £ëûÐ

13. (c) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 280 ˜‚ •yîûyëû xíÅ „þ!›Ÿöì̃ îû vþzöìÍÔ…
xyöìŠéÐ ¦þyîûöì“þ ö„þw ç îûyöì‹Äîû ›öì•Ä îûy‹ßþº î^ùÝþöì̃ îû öÇþöìe
xíÅ „þ!›Ÿ˜ =îû&cþ™)’Å ¦)þ!›„þy þ™yœ˜ „þöìîûÐ

14. (d) vþQîû !î xyîû xyöìÁº”„þîû ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 32 ˜‚ •yîûyöì„þ
¢‚!î•yöì̃ îû £*”ëû ç xydy îöìœ x!¦þ!£“þ „þöìîûöìŠé˜Ð

15. (b) ¦þyîû“þ#ëû ¢‚!î•yö ì˜îû 279A •yîûy x˜%¢yö ìîû !‹~¢!Ýþ
„þyvþz!ªöìœîû ö‰þëûyîû›Äy˜ £öìœ˜ ö„þw#ëû xíÅ›sþf#Ð

16. (c) ö¢rÝþÆyœ ÞÝþÄy!Ýþ¢!Ýþ„þÄyœ x!šþ¢ (CSO) ¦þyîûöì“þîû ‹y“þ#ëû
xyëû þ™!îû›yþ™ „þöìîûÐ

17. (d) ¦þîûöìî† ~„þ!Ýþ ö¦þQîû îûy!Ÿ xíÅyê ~îû ›y˜ ~î‚ !”„þ vþz¦þëû£z
xyö ìŠéÐ ~¢ xy£z þ™kþ!“þö ì“þ ¦þîûö ìîöì†îû ~„þ„þ £œ
!„þöìœy@ùÌy›éôé!›Ýþyîû/ö¢öì„þuþ (kgm/s).

18. (d) ›îû#!‰þ„þy £œ xyöìœyîû þ™)’Å xy¦þÄhsþîû#’ þ™)’Å ²Ì!“þšþœöì̃ îû šþœÐ
xy¦þÄhsþîû#˜ þ™)’Å ²Ì!“þšþœ˜ £œ ö¢£z ‡Ýþ˜y ë…˜ xyöìœy ‡˜
›y•Ä› öíöì„þ £yÍñy ›y•Äöì› ²ÌöìîöìŸîû ¢›ëû ”%£z ›y•Äöì›îû
!îöì¦þ”“þöìœ x!¦þœöìÁºîû ¢yöìí ¢‚„þÝþ ö„þyöì’îû ö‰þöìëû öî!Ÿ
ö„þyöì’ xyþ™!“þ“þ £ëû “þ…˜ xyþ™!“þ“þ xyöìœy„þîû!ÙÂîû ²Ìyëû
¢îÝ%þ„%þ£z ²Ì!“þšþ!œ“þ £öìëû þ™%̃ îûyëû ‡˜ ›y•Äöì› !šþöìîû xyöì¢Ð
xyöìœyîû ~£z •›Åöì„þ xy¦þÄhsþîû#˜ þ™)’Å ²Ì!“þšþœ˜ îöìœÐ

19. (c) xÄy›!›Ýþyîû £œ ~„þ!Ýþ ësþf– ëy ö„þyöì̃ y ¢y!„ÅþöìÝþ þ™!îû›yþ™ „þîûöì“þ
îÄî£*“þ £ëûÐ

20. (d) öœy£yîû ¢îöì‰þöìëû !îÖkþ îû*þ™ £œé „¤þy‰þy öœy£yÐ

21. (d) ö›öì¢y!šþœ „þœy þ™y“þyëû íyöì„þÐ þ™y“þyîû ö„Ïþyöìîû̃ „þy£z›yöì„þ
ö›öì¢y!šþœ îöìœÐ ~!Ýþ …y”Ä ²Ìlßþ“þ ç þ™!îûî£öì’ ¢£yëû“þy
„þöìîûÐ

22. (c) ~„þ!Ýþ vþy£z¢Äy„þyîûy£zöìvþîû vþz”y£îû’ £œ œÄy„þöìÝþy‹Ð

23. (d) 23 xy†ÞÝþ ò˜ÄyŸ˜yœ ößþ™¢ övþó þ™y!œ“þ £ëûÐ ~£z !“þ˜!Ýþ
›£y„þyŸ †öìî¡ì’yëû ¦þyîûöì“þîû vþzöìÍÔ…öìëy†Ä ¢yšþœÄöì„þ ¢Á¿y!˜“þ
„þöìîûÐ

24. (c) !î ×#!˜îy¢˜ ¢Á±!“þ ˜ÄyŸ˜yœ !¢!„þvþz!îû!Ýþ †yöìvÅþîû !vþöìîûQîû
ö‹˜yöìîûœ !£öì¢öìî !˜ë%_« £öìœ˜Ð !“þ!˜ 1992 ¢yöìœîû
!î£yîû „þÄyvþyöìîûîû xy£z!¢~¢ x!šþ¢yîûÐ

25. (d) ¢Á±!“þ œy”yöì… 5!Ýþ ˜“%þ˜ ö‹œy †!àþ“þ £öìëûöìŠéÐ ö¢=!œ
£œéôô ‹yßþñîû– oy¢– Ÿy›– ˜%îîûy– ‰þÄy‚íy‚Ð

26. (c) contemplated
27. (c) intolerance
28. (d) Archive
29. (d) Exaggerate
30. (b) friendly feeling
31. (b) upon
32. (a) up
33. (a) All the details of the invention have been

published by them.
34. (b) bounded
35. (b) talk

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 7  ˜öì¦þÁºîû– 20242

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

36. (d) P O S I

K U Q R

T I O N

L M G R
+2 +2 +2 +2 –2 –2 –2 –2

P E R

T G R

S O N

L M Q
+2 +2 +2 –2 –2 –2

37. (b) ~…yöì̃  vþz_îû £öìî vowel ~î‚ consonent ¢‚…Äyîû
=’šþœ xíÅyê 5 × 3 = 15

38. (d)
A C E G N P R T

+13
+13
+13

1 3 5 7 14 16 18 20

+13

A D G J N Q T W

+13
+13
+13

1 4 7 10 14 17 20 23

+13

39. (b) Touch  Feel
Greet  Acknowledge

40. (a) BCFG, JKNO, RSVW, ?
B C F G

1 3 1
J K N O

1 3 1
R S V W

1 3 1
Z A D E

1 3 1

41. (b) (3)2 = 9
(3)3 = 27
(3)4 = 81
(3)5 = 243
(3)6 = 729

42. (b) ›!’„þyîû îyîyîû ~„þ›ye ö›öìëû ›!’„þyÐ ¢%“þîûy‚ !îû̃ y £œ
›!’„þyîû ö›öìëû xíÅyê ›!’„þy £œ !îû̃ yîû ›yÐ

43. (b) ßþiy˜ !î!˜›öìëûîû þ™îû vþy˜!”„þ öíöì„þ !î›öìœîû ßþiy˜ £ëû 8“þ›
~î‚ îy›!”„þ öíöì„þ ßþiy˜ 21“þ›Ð
 ¢y!îûöì“þ îyœöì„þîû ¢‚…Äy = (21 + 8 – 1) = 28 ‹˜Ð
ßþiy˜ !î!˜›öìëûîû þ™îû îy›!”„þ öíöì„þ „þ›öìœîû ßþiy˜ £ëû 12“þ›Ð
 ßþiy˜ þ™!îûî“Åþöì̃ îû þ™îû vþy˜!”„þ öíöì„þ „þ›öìœîû ßþiy˜ £ëû
= (28 – 12 + 1) = 17“þ›

44. (c)
†yëû„þ îyœ„þ

vþÄyªyîû

45. (d) P

Q
5 !›Ýþyîû

10 !›Ýþyîû
20 !›Ýþyîû

20 !›Ýþyîû

10 !›Ýþyîû

 P ç Q ~îû ”)îûc = 10 + (10 – 5) = 15 !›Ýþyîû
46. (c) !e¦%þ‹ ~î‚ î,öì_îû ¢y•yîû’ xMþéœ !„þlsþ xyëû“þöìÇþöìeîû îy£zöìîû

îûöìëûöìŠé 7 ¢‚…Äy!ÝþÐ ¢%“þîûy‚ ~!Ýþ£z öî„þyîû ›!£œy vþy_«yîûöì”îû
öîyGþyöìFŠéÐ

47. (c) abb/aaa/baa/abb/aaa/baa
 aaab

48. (b) × = +   ÷ = –   + = ×   – = ÷
20 × 6 ÷ 6 × 4
!‰þ£« þ™!îûî“Åþöì̃ îû þ™îû
20 + 6 – 6 + 4 = 24

49. (c) ¢%̃ #“þy > îûy•y > îû#“þy ......(i)
îû#“þy > †#“þy .................(ii)
îûy•y > ŸÄy› > îû#“þy ......(iii)
(i), (ii) ~î‚ (iii) öíöì„þ
¢%̃ #“þy > îûy•y > ŸÄy› > îû#“þy > †#“þy

50. (d) T A L C U M  éôôôé xÇþîû ”%!Ýþ ›)œ Ÿöì· ö˜£zÐ
51. (c) ë%kþ = ÷¢!˜„þ £öìœ– ›£y›y!îû = vþy_«yîû £öìîÐ

52. (a) S

2


E

3


V

1


E

3


N

6


E

3


I

4


G

5


H

7


T

9


N

6


I

4


N

6


E

3


53. (c) 14 + 7 + 3 + 12 = 36
9 + 16 + ? + 11 = 54
 36 + ? = 54
? = 54 – 36 = 18

54. (a) £œ%öì”îû þ™yŸyþ™y!Ÿ ¢î%‹– ˜#œ– œyœ– …öìëû!îû xyöìŠéÐ
 £œ%öì”îû !îþ™îû#öì“þ xîŸÄ£z öî=!˜ £öìîÐ

55. (d)

4 !„þ!›

4 !„þ!›

A B

C
3

3

D E

îy!vþü

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

2 2 2 2AC AB BC 4 3 25 5     

2 2 2 2CE CD DE 3 4 25 5     
 AE = AC + CE = (5 + 5) = 10 !„þ!›

56. (a) îûy‹˜

›y!˜„þ

îyîy

Ÿ‰þ#˜

!²Ìëûy

„þ˜Äy

¦þy£z

‹†ê ¦þy£z

„þy„þy

57. (d)

58. (b) 124   :   3   ::   246   :   4

12÷4 24÷6

59. (d) C   B   U    V
–1 +1

Y   X   T    U
–1 +1

R   Q   O    P
–1 +1

I     J    S    O
+1 –4

60. (c) 7 × 4 – 8 ÷ 2 = 28 – 4 = 24
61. (b) 5, 6, 7, 8 ~îû œ¢y= = (2 × 5 × 3 × 7 × 4) =

840
•!îû– !˜öì’Åëû ¢‚…Äy = (840k + 3), öëÝþy 9 ~îû =!’“þ„þÐ

 !˜öì’Åëû ¢‚…Äy = (840 × 2 + 3) = 1683
62. (b) •!îû– ö›yÝþ „þ›Å‰þyîû#îû ¢‚…Äy = xÐ “þy£öìœ

12000 × 7 + 6000 × (x – 7) = 8000 × x
 84000 + 6000x – 42000 = 8000x
 8000x – 6000x = 84000 – 42000
 2000x = 42000
 x = 21
 ö›yÝþ „þ›Å‰þyîû#îû ¢‚…Äy = 21

63. (b) •!îû– A ~îû î“Åþ›y˜ îëû¢ = 4x îŠéîû ~î‚ B ~îû î“Åþ›y˜
îëû¢ = 5x îŠéîû

5 îŠéîû þ™öìîû A ~îû îëû¢ = (4x + 5) îŠéîû

5 îŠéîû þ™öìîû B ~îû îëû¢ = (5x + 5) îŠéîû

4x 5 5
5x 5 6


 


 24x + 30 = 25x + 25  x = 5
¢%“þîûy‚ A ~îû î“Åþ›y˜ îëû¢ = (4 × 5) = 20 îŠéîû

64. (a) P : Q : R = (45000 × 2) : (70000 × 2) : (90000
× 2) = 90 : 140 : 180 = 9 : 14 : 18

ö›yÝþ œy¦þ = 164000 Ýþy„þy

Q ~îû ¦þy† 
14164000
41

   
 

= 56000 Ýþy„þy

65. (d) •!îû– ²Ìyîû!½þ„þ ›)œÄ = x Ýþy„þyÐ “þy£öìœ
î!•Å“þ ›)œÄ = x Ýþy„þyîû 110% ~îû 120%

110 120 33xx
100 100 25

     
 

 Ýþy„þy

33x 33 2533 x 25
25 33


    

x“þ~î ²Ìyîû!½þ„þ ›)œÄ = 25 Ýþy„þy
66. (c) •!îû– !˜!”ÅÜT ”y› = x Ýþy„þy

~…˜– !îe«ëû›)œÄ 
2x
3

  Ýþy„þy– Çþ!“þ = 10%

 e«ëû›)œÄ 100 2x 20x
90 3 27

    
 

 Ýþy„þy

˜“%þ˜ !îe«ëû›)œÄ = x Ýþy„þy

¢%“þîûy‚ œy¦þ 
20x 7xx
27 27

    
 

 Ýþy„þy

œy¦þ % 
7x 27 100 % 35%
27 20x

     
 

67. (a) 35 !œÝþyîû !›×öì’ ”%öì•îû þ™!îû›y’ 
535 25
7

    
 

 !œÝþyîû

~î‚ ‹œ = 10 !œÝþyîû
˜“%þ˜ !›×öì’ ”%• = (25 + 5) ~î‚ ‹œ = 10 !œÝþyîû
˜“%þ˜ !›×öì’ ”%• ­ ‹œ = 30 : 10 = 3 : 1

68. (c) •!îû– ²Ìí› x‚Ÿ = ` x ~î‚
!m“þ#ëû x‚Ÿ = ` (4000 – x) “þy£öìœ

 8 10x 1 4000 x 1 352
100 100

           
   

 4000 x2x 352
25 10


  

 4x + 20000 – 5x = 17600
 x = (20000 – 17600)  x = 2400
 !˜öì’Åëû xíÅ = ` 2400

69. (d) 5 ‹˜ þ™%îû&¡ì   7 ‹˜ ›!£œy  1 ‹˜ þ™%îû&¡ì 
7
5



›!£œy
(7 ‹˜ þ™%îû&¡ì + 13 ‹˜ ›!£œyV

7 1147 13
5 5

         
 ›!£œy

•!îû– !˜öì’Åëû Ýþy„þy = x
öî!Ÿ ›!£œy– öî!Ÿ Ýþy„þy S¢›y˜%þ™y“þV



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 7  ˜öì¦þÁºîû– 20244

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

114 1147 : ::5250 : x 7x 5250
5 5

  

 114 1050
x 17100

7


  

!˜öì’Åëû Ýþy„þy = 17100 Ýþy„þy

70. (b) A ç Béôé~îû 2 !”öì̃ îû „þy‹ 
1 1 5 1

10 15 30 6
     
 

1
6 ¦þy† „þy‹ „þîûöì“þ “þyöì”îû ¢›ëû œyöì† = 2 !”˜

¢Á™)’Å „þy‹ „þîûöì“þ “þyöì”îû ¢›ëû œyöì† = (2 × 6) = 12
!”˜

71. (a) ¦þ!“Åþ „þîûyîû ˜œ myîûy ö‰þïîyF‰þy!Ýþ ¦þ!“Åþ £öì“þ ¢›ëû œyöì†
= 5 ‡^ùÝþy

!Šéöìoîû „þyîûöì’ ¦þ!“Åþ £öì“þ ¢›ëû œyöì†
1 115
2 2

   ‡^ùÝþy

•!îû– !Šéo!Ýþ– ¦þ!“Åþ ö‰þïîyF‰þyöì„þ x ‡^ùÝþyëû …y!œ „þöìîû ö”öìî
“þy£öìœ

1 1 2 1 1 2 1 x 55
5 x 11 x 5 11 55

         
 

¢%“þîûy‚ !Šéo!Ýþ ¦þ!“Åþ ö‰þïîyF‰þyöì„þ 55 ‡^ùÝþyëû …y!œ „þöìîû ö”öìîÐ

72. (a) 600 !„þ!› öëöì“þ ¢›ëû œyöì† 
600 6
100
   
 

‡^ùÝþy

ö›yÝþ !îîû!“þîû ¢‚…Äy 
600 1 7
75

    
 

öíöì› íy„þy ö›yÝþ ¢›ëû = (7 × 3) = 21 !›!˜Ýþ
 ö›yÝþ ¢›ëû = 6 ‡^ùÝþy 21 !›!˜Ýþ

73. (c) ›yœ†y!vþü ”%!Ýþîû xyöìþ™!Çþ„þ †!“þ = (45 + 30) = 75
!„þ!›/‡^ùÝþy

5 12575
18 6

    
 

 !›Ýþyîû/ö¢öì„þuþ

x!“þe«› „þîûy ”)îûc = (500 + 500) = 1000 !›Ýþyîû

!˜öì’Åëû ¢›ëû 61000 48
125

    
 

 ö¢öì„þuþ

74. (c) !ßþiîû ‹öìœ ö˜ï„þyîû †!“þ = 45 !„þ!›/‡^ùÝþy
•!îû– ößþËyöì“þîû †!“þ = x !„þ!›/‡^ùÝþy

ößþËyöì“þîû x˜%„)þöìœ öî† 
80

4 / 3
   
 

 !„þ!›/‡^ùÝþy

 80 3
4


 !„þ!›/‡^ùÝþy = 60 !„þ!›/‡^ùÝþy

 45 + x = 60  x = 15
¢%“þîûy‚ ößþËyöì“þîû öî† = 15 !„þ!›/‡^ùÝþy
ößþËyöì“þîû !îþ™îû#öì“þ †!“þ = (45 – 15) = 30 !„þ!›/‡^ùÝþy

ößþËyöì“þîû !îþ™îû#öì“þ 80 !„þ!› öëöì“þ ¢›ëû œyöì†
80 8
30 3

   ‡^ùÝþy = 2 ‡^ùÝþy 40 !›!˜Ýþ

75. (c) •!îû– î†ÅöìÇþöìeîû ²Ìöì“þÄ„þ îyý = a ö¢!›

“þy£öìœ– a2 = 121  a = 121  = 11 ö¢!›
 “þyöìîûîû ÷”‡ÅÄ = (4 × 11) = 44 ö¢!›
î,_y„þyîû îû*öìþ™ xy˜öìœ– 2R = 44

 2 × 
22
7 × R = 44

7R 44 7
22

     
 

ö¢!›

î,öì_îû öÇþešþœ = R2 22 7 7
7

    
 

 î†Åöì¢!›

      = 154 î†Åöì¢!›

76. (b) •!îû– a = 20 !›Ýþyîû– b = 21 !›Ýþyîû ~î‚ c = 29 !›ÝþyîûÐ

“þy£öìœ s = 
1
2 (a + b + c) = 

1
2 (20 + 21 + 29)

= 35 !›Ýþyîû

s(s a)(s b)(s c) 35 15 14 6        

7 7 5 5 6 6     
= (7 × 5 × 6) = 210 î†Åöì¢!›
!˜öì’Åëû …îû‰þ = ` (210 × 9) = ` 1890

77. (b) ²Ì”_ ­ ¦þy‹Ä = 7865321, ¦þy†šþœ = 33612, ¦þy†öìŸ¡ì
= 113

¦þy‹„þ = 
S¦þy‹Ä éôô ¦þy†öìŸ¡ìV

¦þy†šþœ

       
7865321 113 234

33612


 

78. (d) •!îû– ¢!àþ„þ vþz_îû = x, “þy£öìœ ¦%þœ vþz_îû = (140 – x)
 5x – 2(140 – x) = 350
 5x + 2x – 280 = 350
 7x – 630  x = 90
¢!àþ„þ vþz_îû = 90

79. (c) •!îû– x ‹˜ îÄ!_« ~î‚ x!Ýþ ö‡yvþüy !ŠéœÐ
x
2  îÄ!_« ö‡yvþüyîû !þ™öìàþ ‰þöìvþü!ŠéœÐ

x!Ýþ ö‡yvþüy ~î‚ 
x
2 îÄ!_« þ™yöìëû ö£¤öìÝþ ëy!FŠéœÐ

“þyöì”îû þ™yöìëûîû ¢‚…Äy = 4x + 2 ×
x
2  = 4x + x = 5x

 5x = 70  x = 14
¢%“þîûy‚ ö‡yvþüyîû ¢‚…Äy = 14

80. (b) 26!Ýþ †yöìŠéîû ›yöìGþ 25!Ýþ îÄî•y˜ îûöìëûöìŠéÐ

¢%“þîûy‚ ”%!Ýþ †yöìŠéîû ›yöìGþ îÄî•y˜ 
225
25

 = 9 !›Ýþyîû
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

81. (d) I : II : III  2 3 2 3:1: 15 : 1 5 : 15
3 5 3 5

          
   

   = 10 : 15 : 9
•!îû– ¢‚…Äy=!œ 10x, 15x ~î‚ 9x
“þy£öìœ 10x + 15x + 9x = 102
 34x = 102  x = 3
 !m“þ#ëû ¢‚…Äy = (15 × 3) = 45

82. (c) a + b = 15 ~î‚ (a2 + b2) = 113 ö”çëûy xyöìŠé
(a + b)2 = (15)2  (a2 + b2) + 2ab = 225
 113 + 2ab = 225  2ab = 112 ab = 56

83. (d) ˜y þ™vþüy ¦þy† 
4 11
5 5

    
 

˜y þ™vþüy þ™,Ûþyîû ¢‚…Äy 
1100 20
5

    
 

84. (c) •!îû– x ‹˜ Šéye !þ™„þ!˜öì„þ !†öìëû!ŠéœÐ “þy£öìœ

5000 5000 100 10050 1
x x 5 x x 5

    
 

1 1 1 (x 5) x 1
x x 5 100 x(x 5) 100

 
    

 
 x(x + 5) – 500 = 0  x2 + 5x – 500 = 0
 x2 + 25x – 20x – 500 = 0
 (x + 25) – 20(x + 25) = 0
 (x + 25)(x – 20) = 0

 x = 20 [ x   –25]

85. (a) 10 ç¦þyöìîû ö›yÝþ îûyöì̃ îû ¢‚…Äy = (3.2 × 10) = 32
þ™öìîûîû 40 ç¦þyöìîû ²Ìöìëûy‹˜#ëû îûy˜ = 282 – 32 = 250

þ™öìîûîû 40 ç¦þyöìîû îûy˜ öîûÝþ £öìî 
250 6.25
40

 


